= o
A & 0l & AF 2 E A A
20219 &= S0l &t LB A Al R0l
SN AR
Hu: DER SM2 M08 7S
SRl MO OHHE MADIE RE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AR 0 2t 448,326,971 293,750,756 154,576,215
= 40,567,225
s 900,000
J| 345,494,529
< 61,365,217
NEE s4ats dag 2= 448,249,541 293,675,486 154,574,055
= 40,567,225
s 900,000
J| 345,494,529
< 61,287,787
o] QHE A MADIEE =R 385,135,307 230,067,243 155,068,064
= 3,625,280
J| 339,883,060
< 41,626,967
DNEZE SHE MAD|EE R HRFA 14,833 14,957 A124
201 Let24d] 12,125 12,250 A 125
01 At 22l 2,125 2,250 A 125
OsMd2FZ(0aE2) 2,125,000 2,125
02 =224l 10,000 10,000 0
OFAOEI=E 3l 253 10,000, 000 10,000
203 YR =2t 2,708 2,707 1
03 Al =AY R =& 2,708 2,707 1
Ostd2FZ(0larE2) 2,708,000 2,708
ol OFES=S ZEAE N& 6,864 20,383 A 13,519
= 5,280
< 1,584
403 A X EHHSH=01H 6,864 20,383 A 13,519
= 5,280
< 1,584
01 X SHHA=LE L 6,864 20,383 A 13,519
ORdl OMssE ZEAL 4 X
6,864,000 6,864
= 5,280
< 1,584
sHIINIH |4 29 1,650,000 1,646,100 3,900
308 MtXIEHSOIH 1,650,000 1,619,100 30,900
01 HIXNHHBHEELS 1,650,000 1,619,100 30,900
sSHANIHY 4 - 2 AtY
1,650,000, 000 1,650,000
SENLSUHAXE MY 156,000 0 156,000
= 120,000
< 36,000
308 XtXIEHH SOl A 156,000 0 156,000
= 120,000




SN AR
MY DEI S42 MW 2E
ol AlEro| OHEE MADIY TE (Sl &)
SA - BB B () - MM - BES Ol &t o San HmEET
< 36,000
01 IXNHHBNEES 156,000 0 156,000
OsZEULEUHIE ALY 156,000,000 156,000
= 120,000
< 36,000
SN2 Ot MA BEE XA (2T A) 9,627,900 5,895,250 3,732,650
308 XX EHHSOIA 9,627,900 5,895,250 3,732,650
01 AXHHILEES 9,627,900 5,895,250 3,732,650
OsgoletdMol 28 XA 1,266,000, 000 1,266,000
O=s&H2MAHEH K& 7,416,000, 000 7,416,000
OsJIHESe2E N&d 945,900, 000 945,900
l2d SAXEM XNFAY 336,000,000 148,000,000 188,000,000
J| 336,000,000
308 MtXIEHSOIH 336,000,000 148,000,000 188,000,000
J| 336,000,000
01 HXNHHNBHELS 336,000,000 148,000, 000 188,000,000
OJlzd SAA=M XA
336,000, 000,000 336,000,000
J| 336,000,000
SUAEH HEHH XN (=) 65,000 58,000 7,000
J| 65,000
201 Let24d] 50,000 40,000 10,000
J| 50,000
01 At 22l 50,000 40,000 10,000
OSUXE M AL 2t 20,000, 000 20,000
J| 20,000
OZSUAE M ALY A &S| H = 30,000,000 30,000
J| 30,000
202 oddl 15,000 18,000 A 3,000
J| 15,000
01 = LH 4 1l 15,000 18,000 A 3,000
OSAAEMAS =T O 15,000, 000 15,000
J| 15,000
SUXNEN AU XA (A=2F 4 1,318,060 590,000 728,060
J| 1,318,060
308 MtXIEHSOIH 1,318,060 590,000 728,060
J| 1,318,060
01 HXNHHBHELS 1,318,060 590,000 728,060
O2dXN=NELZEZUXA 120,060, 000 120,060
J| 120,060
OZARSHAILEE BHY X &
1,198,000, 000 1,198,000
J| 1,198,000




2N
X ZH -
L= B

el

Azl ol 3t
DEI a2 YIS
Mol OHFE MAIIB RS

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HEE ZAXNEH 2,500,000 20,400,000 A 17,900,000
J| 2,500,000
308 AHAIEHHSOIA 2,500,000 20,400,000 A 17,900,000
J| 2,500,000
01 HXNHHBHELS 2,500,000 20,400,000 A 17,900,000
O=2EXZAENAL 2,500,000, 000 2,500,000
J| 2,500,000
SEEE s =& X& 26,454,500 29,850,000 A 3,395,500
201 -4l 4,500 0 4,500
02 =224l 4,500 0 4,500
Os0ei=g HRAH AAE KX
4,500,000 4,500
207 O] 50,000 150,000 A 100,000
01 289 50,000 0 50,000
0508 49 N2 4B2s 478
50,000, 000 50,000
308 X EHSOIA 26,400,000 29,700,000 A3,300,000
01 HIXNHHNBNEES 26,400,000 29,700,000 A 3,300,000
OSEEE s02 =& XA (0a2L)
26,400, 000,000 26,400,000
S Z JIEtAIE &= 1,156,400 0 1,156,400
403 HXSHHSA=0l& 1,156,400 0 1,156,400
01 X SHHMA=ZLE X 1,156,400 0 1,156,400
OAlEat S&ALY 1,156,400, 000 1,156,400
ST A AL 2,132,000 1,982,500 149,500
= 1,640,000
< 492,000
403 XM S =0l & 2,132,000 1,982,500 149,500
= 1,640,000
< 492,000
01 XM A2E X 2,132,000 1,982,500 149,500
OF 4R L2D1Hs8 sI1H XI& 650,000,000 650,000
= 500,000
< 150,000
OsJIHL UM X2 520,000, 000 520,000
= 400,000
= 120,000
OW&&SEsIIAH LA 442,000,000 442,000
= 340,000
< 102,000
OL=sIIHUHM X 520,000, 000 520,000
= 400,000
< 120,000

w




SN AR
Hu: DER SM2 M08 7S
Shol AlZOl OHEI MMM DE (ol @)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SIHSSHEX 22X 174,000 185,600 A 11,600
= 120,000
& 54,000
403 XX SHHS K201 & 174,000 185,600 A 11,600
= 120,000
= 54,000
01 XIS AS2E X 174,000 185,600 A 11,600
OsJIHES AR 22X 174,000,000 174,000
= 120,000
=} 54,000
MHANESZSHIN=EY 2,193,600 1,765,000 428,600
= 1,740,000
& 453,600
308 XNXIGHSO0l& 173,600 55,800 117,800
= 140,000
& 33,600
01 HXHHBIMNEXS 173,600 55,800 117,800
OMYNSBSAYH NSALY X2
173,600,000 173,600
= 140,000
= 33,600
403 XX SHHS K20 & 2,020,000 1,709,200 310,800
= 1,600,000
= 420,000
01 XIS A=Z2E X 2,020,000 1,709,200 310,800
OAHXMSZSAHIAM AEEH XN
1,240,000, 000 1,240,000
= 1,000,000
= 240,000
OAHXMNSZSHIM AMYEO2S X
780,000,000 780,000
= 600,000
& 180,000
AMeAS LM A MAF X 717,000 832,000 A 115,000
307 2iz2to| A 62,500 58,000 4,500
02 QIZIA AAIE E X 6,500 13,000 6,500
Ot sted M2HNS X & 6,500,000 6,500
04 CIZ2tSHALALS B X 56,000 45,000 11,000
OXMAds 4 56,000,000 56,000
308 XX EHSO|A 339,500 249,000 90,500
01 AIKSHHEMNEX= 339,500 249,000 90,500
ONA=s MEEZs XIH 19,500,000 19,500
O AlHXMNZ E5HI 4 320,000,000 320,000
403 XX SHHS K201 A 315,000 525,000 A 210,000




AN A0
Hu: DER SM2 M08 7S
Chel: Alzol OHEE MADIB 2E (sl &2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 315,000 525,000 A 210,000
O=g8 S22 AS (Mat=2) 315,000,000 315,000
ASRE MAH 22 K& 969, 150 999,000 A 29,850
308 XXM SOIA 357,000 420,000 A 63,000
01 AXHHBILEES 357,000 420,000 263,000
OMZRES MY B2 X (ZAU) (MR
) 357,000,000 357,000
403 UtXISHHE =01 612,150 579,000 33,150
01 XM A=2EE 612,150 579,000 33,150
OAxE MAH HZ XA (AMEZH) (o &HE
Z) 612,150,000 612,150
LDSE SBHHEN AHIEX DB 2= 9,912,006 9,917,274 Nb5,268
= 7,812,006
< 2,100,000
egIpeld (NAH) N (HE) 58,000 68,000 10,000
2 58,000
201 ¢er24] 40,000 50,000 A 10,000
= 40,000
01 At 22l 40,000 50,000 A 10,000
Ox=ztel Ler2I| 32,800,000 32,800
= 32,800
Og=ze =l 7,200,000& 7,200
= 7,200
202 Odl 18,000 18,000 0
= 18,000
01 = LH 4 1 18,000 18,000 0
o=zl gRFANH 18,000, 000& 18,000
= 18,000
gz 2edl(NAM) NE(AMZE4A) 1,934,006 950,974 983,032
= 1,934,006
308 XXM SO0 A 1,934,006 950,974 983,032
= 1,934,006
01 IXNHHBNEES 1,934,006 950,974 983,032
Og=z|dNMEX 846,000, 000 846,000
= 846,000
O LU X2 At 1,088,006, 000 1,088,006
= 1,088,006
HAXZHEAE X 3,191,000 4,045,000 A 854,000
= 2,720,000
< 471,000
403 XIXISHHIS X =201 & 3,191,000 4,045,000 854,000
= 2,720,000
S 471,000

(&)




2N
X ZH -
L= B

el

2 21 0| 2t
EX sM2 MUY RE
ZE UYCH AHIEA Jg 2E

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 3,191,000 4,045,000 A 854,000
ORPC H4ZE - M&E AMAXA 2,762,000,000 2,762,000
= 2,390,000
< 372,000
ORPC E&AIE JHE+ K& 429,000,000 429,000
= 330,000
< 99,000
ISE HBHE SHAMY 3,565,000 3,548,300 16,700
= 3,100,000
< 465,000
403 MHXSHHSA=0l& 3,565,000 3,548,300 16,700
= 3,100,000
< 465,000
01 X ESHMA=LE L 3,565,000 3,548,300 16,700
OLNEZZH BHE 4 3,565,000, 000 3,565,000
= 3,100,000
< 465,000
DEEH M /s X2 1,011,000 1,152,000 A 141,000
308 XXM SO A 111,000 450,000 A 339,000
01 IXNHHBNEES 111,000 450,000 A 339,000
Osdd RAN=24H N& 15,000, 000 15,000
Os&d 2E5&d K& 96,000, 000 96,000
403 UHXSHHSA=0l& 900,000 702,000 198,000
01 XM A2E X 900,000 702,000 198,000
OS& % =% RPC(DSC) Al&&dl XI&(0larH
Z) 900,000,000 900,000
sgH g2 & BE =3 153,000 153,000 0
201 £8-2dH| 153,000 153,000 0
01 At 22l 153,000 153,000 0
OF=SZEE=E & =4 g8 153,000, 000 153,000
AU SE MADIIBE AL &5 13,571,494 14,243,646 AB72,152
= 2,503,479
J| 2,414,779
< 8,653,236
=M AAE SHE K& 281,300 572,469 A 291,169
J| 194,000
= 87,300
403 MtXISHH S0l & 281,300 572,469 A 291,169
J| 194,000
= 87,300
01 X SHMA=2EE 281,300 572,469 A 291,169
Ot NEE ANESUS ALY 281,300,000 281,300
J| 194,000
< 87,300




2N
X ZH -
L= B

el

SN - SAGEA) - MRAY - BES 0] &k o4 il Hl D&
FTAALE A & =8 & 2eldl XI& 53,000 70,000 A 17,000
J| 53,000
202 Oddl 5,000 5,000 0
J| 5,000
04 =Xl =t 0d dl 5,000 5,000 0
OFTANE St THE &&= M=oty AEHEZA
5,000,000 5,000
J| 5,000
307 gl2tol & 7,000 13,000 A 6,000
J| 7,000
02 B HYAEEX 7,000 13,000 A 6,000
OFTADI =S At = =8 % 2e2lHl 7,000,000 7,000
J| 7,000
308 XXM SO0 A 41,000 52,000 A 11,000
J| 41,000
01 IXNHHBMNEES 41,000 52,000 A 11,000
OFTAJI= At HE =8 % 22l
41,000,000 41,000
J| 41,000
TSSSWA WLZA XJ ALY 624,000 585,000 39,000
= 480,000
=) 144,000
308 XXM SO A 624,000 585,000 39,000
= 480,000
=) 144,000
01 IXNHHBNEES 624,000 585,000 39,000
OXZSSSua WUAATAAY 624,000,000 624,000
= 480,000
< 144,000
LSt tHE WU==JA U=t XA 1,372,500 1,350,000 22,500
403 A X EH S =0l A 1,372,500 1,350,000 22,500
01 X SN2 2= 1,372,500 1,350,000 22,500
Ot HE3 A (0=
333,750,000 333,750
O3 8 MG XIAZ (0l &E2)
555,000,000 555,000
ORNAEE AEM2MEDE XA (M AEZ)
333,750,000 333,750
OJIZHHsHE HAHE=S=L ALY 150,000,000 150,000
ANESuS s XA 620,206 757,577 A 137,371
J| 427,728
< 192,478
403 A X EHHS 20l A 620,206 757,577 A 137,371
J| 427,728
< 192,478




SN FHE - EA(EA) - MRAL

01
o

=
i

2

01 HXSHH =L
OAMZJ0 StHs SEML ALY 507,396,000

Ot Fel==dxZIIFEAY 112,810,000

o

Hn

Il

H

620,206

507,396
349,928
167,468
112,810

77,800
35,010

757,577

2o0l=0F ICT 858 X&

mn <

474,768

365,206
109,562

348,000

126,768

403 TR SHHSA=01H

Jl|

n

474,768

365,206
109,562

348,000

126,768

01 HXSHH =R

OICT 858 ANEZ AMEEs 474,768,000

hn X

474,768
474,768

365,206
109,562

348,000

126,768

SAEO0F HUXEZAIE K&

o

. 752,295
,208,479

543,816

2,320,000

Ab567,705

403 TtXI M S A =01 A

o

. 752,295
,208,479

543,816

2,320,000

Ab567,705

01 HXSHH =L E

OAEZ0 HUHX 22 AIEA
1,752,295,000

H A

, 752,295

, 752,295
,208,479

543,816

2,320,000

A567,705

=
S e

OF A THA Ol XIAIE X2

AL

SRl

99,000

90,000
9,000

99,000

403 A XM S =0l A

oW

99,000

90,000
9,000

99,000

01 HXSHH =L xE
=] A

OXNZHtTAIE EX XAAS 99,000,000

o

99,000

99,000

90,000
9,000

99,000

DEHIOHE THHAIE X

S

t

777,200

536,000
241,200

870,000

292,800

403 Xt

pall
a

&M SX20l &

J|

fn

777,200

536,000
241,200

870,000

292,800

[EPAPNE= DS D=

OX1D= HIJE MEHAIE XI& 777,200,000

777,200
777,200

870,000

292,800

_8_




2N

Hu: DER SM2 M08 7S
SHol: RAOISH MADIIB NS =S CER-ED
(o
SA BB (3H) - NRAY - B Ol At o %E& HRE2
Pl 536,000
= 241,200
ANEINA DEE MAAILE &5 1,398,750 1,350,000 48,750
403 XX SHHS K201 & 1,398,750 1,350,000 48,750
01 XIS RS2 X 1,398,750 1,350,000 48,750
OFA20sIHOIEs) AUEZ 22X (0
AHE 24 825,000,000 825,000
OANESXS MAAILE SSAS (0l A=)
510,000,000 510,000
O2WAIE AGEZE NS HAHAAE = A
Ol AFE 2H) 63,750,000 63,750
2oEE My 23 2,872,750 2,928,000 A B5,250
308 AMXIESHMSOIA 366,000 420,000 A 54,000
1 X SHHBAEEXS 366,000 420,000 A 54,000
ORNa EAdYdSsY XA 216,000,000 216,000
OSEFEMAILEDNRA XS AIHAS
150,000,000 150,000
403 XX SHHS K20 & 2,506,750 2,508,000 A 1,250
01 XIS AZ2E X 2,506,750 2,508,000 AN 1,250
O 22 MagAY NAY (0l aHE )
300,000,000 300,000
O2W&2 MAM-A=sE A=sXAS (HAE
2hH) 255,000,000 255,000
O0MIIZ= S Mol HEeSsd" 2sH(oarE)
255,000,000 255,000
OJUEX XNgU=zE AIY 1,696, 750,000 1,696,750
NEESE Mo L sALAXS 255,000 300,000 A 45,000
403 XX SHHS K20| & 255,000 300,000 A 45,000
01 XIS A=Z2E X 255,000 300,000 A 45,000
O3ts MAD|BE A M 2ASIAS (0l AR 2H)
255,000,000 255,000
HeRSHHARS (AKX HM2AIE)(RXEH) 670,800 479,700 191,100
J| 516,000
& 154,800
403 XX SHS K20 & 670,800 479,700 191,100
J| 516,000
& 154,800
01 XIS A=Z2E X 670,800 479,700 191,100
Olllsd2 M2REMAH 25
1,720,000, 000%39% 670,800
J| 516,000
& 154,800
HeSEMHRES (M2 ) (MXIEH) 62,400 47,190 15,210
J| 48,000




2N

Hu: DER SM2 M08 7S
Sl RKSH MADIE AlM B (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 14,400
403 XX SHHS K20 & 62,400 47,190 15,210
J| 48,000
= 14,400
01 XIS A=Z2E X 62,400 47,190 15,210
ORlsM2E M2 XE XS AE
160,000, 000*39% 62,400
J| 48,000
& 14,400
SRS HAIAMS AN (KXIEH) 899,000 1,674,000 AT75,000
= 725,000
& 174,000
403 XX SHHS K20 & 899,000 1,674,000 AT75,000
= 725,000
= 174,000
01 XIS A2 X 899,000 1,674,000 AT775,000
Oz ZSHIAH SLAY
1,450,000, 000%62% 899,000
= 725,000
& 174,000
HASMAMMETA(ZIIEEXH) 360,000 360,000 0
308 AXIEHSOIA 360,000 360,000 0
01 AIXSHMEMNEX= 360,000 360,000 0
OMASMAOLE X & ALY 360,000,000& 360,000
SHE O 2 =0 EXE 600,000 0 600,000
308 XX G SO0l & 600,000 0 600,000
01 AIKISHHENMNEXZ 600,000 0 600,000
FRSAE JIAHE XA 600,000,000 600,000
EZANS ALz AR (HA) 398,525 220,110 178,415
J| 274,845
& 123,680
403 XX SRS K20| & 398,525 220,110 178,415
J| 274,845
& 123,680
01 MXHHXNE2BE =X 398,525 220,110 178,415
OEE&2 MEsUs A (HA, ¢4=2)
398,525,000 398,525
J| 274,845
& 123,680
EtHA=AH) e XM 38,490,621 36,477,450 2,013,171
= 26,526,460
Ry 900,000
J| 2,927,000
= 8,137,161
SAMASMAMESBAAE SN2 5,000 5,000 0




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 5,000 5,000 0
02 =224l 5,000 5,000 0
OZIEE A28 =X 5,000,000 5,000
FI=sSUHM XA 319,000 407,000 A 88,000
= 220,000
< 99,000
308 XXM SOIA 319,000 407,000 A 88,000
= 220,000
< 99,000
01 AXHHBISEES 319,000 407,000 288,000
ORIIsSM XI& 1,100,000, 000%29% 319,000
= 220,000
< 99,000
SI1EHZ2 X 17,228,000 17,228,000 0
= 14,600,000
= 2,628,000
308 XtXIEHHSOIA 17,228,000 17,228,000 0
= 14,600,000
= 2,628,000
01 HXNHHNBHELS 17,228,000 17,228,000 0
ORJI&dz XA 17,228,000, 000 17,228,000
= 14,600,000
< 2,628,000
EAMEH XA 12,264,000 12,264,000 0
= 9,722,000
= 2,542,000
308 XX EHSOIA 12,264,000 12,264,000 0
= 9,722,000
< 2,542,000
01 HIXNHHNBNEELS 12,264,000 12,264,000 0
OE2MEHM X 12,264,000, 000 12,264,000
= 9,722,000
< 2,542,000
AEdsgY XNFAY 1,350,000 1,340,000 10,000
as 900,000
< 450,000
403 MHXISHE X201 H 1,350,000 1,340,000 10,000
as 900,000
< 450,000
01 X SHHN2E = 1,350,000 1,340,000 10,000
OzEd=sd N7 ALY 3,000,000, 000%45% 1,350,000
s 900,000
= 450,000
SQsRRd D20 195,000 195,000 0
= 150,000




2N
X ZH -
L= B

el

5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 45,000
308 XX G SO0l & 195,000 195,000 0
= 150,000
= 45,000
01 AIKSHHENMNEXZ 195,000 195,000 0
Osgdsatadyegd T2 300,000, 000%65% 195,000
= 150,000
& 45,000
AR RNEASAZE I 2,384,798 0 2,384,798
= 1,834,460
& 550,338
308 MXISHMSOIA 2,384,798 0 2,384,798
= 1,834,460
& 550,338
01 IXHHIMNEXTZ 2,384,798 0 2,384,798
Ogds MSBA=MS X
4,586, 150,000%52% 2,384,798
= 1,834,460
=} 550,338
A=Y K 243 300,810 388,000 A 87,190
201 2Et24Ay| 38,250 40,500 N2,250
01 AP 2t 2] d| 38,250 40,500 A2,250
ORSBSMS ZATUCSH (WL
38,250,000 38,250
307 2izto| & 20,160 31,500 A 11,340
04 CIZ2tSHALALS B = 20,160 31,500 A 11,340
OABASHS AHIZU KA (HMEY)
20,160,000 20,160
308 XAHXIGHH SO0l & 242,400 294,000 51,600
01 AIXSHHEMNEXZ 242,400 294,000 A 51,600
OstnrstA= AF XN 156,000,000 156,000
OrstHA=sE EE OFAHE KNS 86,400,000 86,400
XNetd=sY Tt 2= 826,733 899,000 NT2,267
308 XAHXIEHMSOIA 744,233 899,000 N 154,767
01 AIXSHMENMNEX=Z 744 233 899,000 N 154,767
OXsASAE ol (0l AHEZ2) 405,833,000 405,833
OXSHA=S MR 338,400,000 338,400
403 XX EHHS K20 A 82,500 0 82,500
01 AIXSHMAS2E X 82,500 0 82,500
OX&SAHDNSH2HE HES 45,000,000 45,000
OXSA=EIE A 30,000,000 30,000
OREAHA=Y AL HEX 7,500,000 7,500




A AT

A1
Hu: DBE SM2 MAIE 25
o

Helr dE3sLIIE 24 (&)
L=
SA - BB B () - MM - BES Ol &t o San HmEET
dEdsy oy =S4 353,280 447,450 A94,170
307 gl2tol & 19,200 24,000 A 4,800
02 It M AHE L 19,200 24,000 A 4,800
Oz ed=e MAREH 4 19,200,000 19,200
308 XXM SO0l A 103,680 135,450 A31,770
01 IXNHHBNEES 103,680 135,450 A31,770
OreEd=sdEEN B2 13,500, 000 13,500
OrEI=sZ XS5 50,400,000 50,400
OXBAHUSTHO DR K (4E
Z) 39,780,000 39,780
403 XSS A=0l& 230,400 288,000 A57,600
01 HXSHMA2E X 230,400 288,000 A57,600
OZSZHESREANEXNE 230,400,000 230,400
St B 2E B3 170,000 0 170,000
308 XXM SOl A 170,000 0 170,000
01 IXNHHBANEES 170,000 0 170,000
OsaotdEas 25 (0&=2) 170,000,000 170,000
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